idence i
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the right d

sS€

hoo
he width of the 95%

(D) The regressior

o

H

lsad

(B) The degree
(E) None of the above an
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Section 2

s OPe ST
in are By {918

(A) smalier than 10
(B) larger than 10
(C) equal to 10

(D) can’t tell without knowing the entire |

13

(5% I X follows a Gamma &
What is the distribution of Y7
(A) Normal distribution

(B) Beta distribution

(C) Binomial(l, F(co})

(D) Extreme value distribution

(E) Your own answer

1

(5%) In an admission test, the committee decided to
the proportion of each gender is equal in all the ca

is any bias towards female students. What is the p-va

random sampie i

(8%) Let Xb){;&,m,;{,i be
FQ j,/“};UV%

a

cu=12 with a=8=01.Fl

end.

Y

take nine students and six of them

ndidates, we are interested i

alue for the exact test inn this case?

frone]

testing whether there




# B i o 2 3
8, (8% Let X, Y and
L oN23T
[T !
Vm P ihagzexpy .
2] a
[ AN
where -co< x < 00, -00< y < coand -00< z < oo. Please choose the right description(s) from the
following answers
(A) X, Y and Z are dependent
(B) X, Y and Z are pairwise inde psﬂdem
(C) The marginal distribution for each of X, Y and Z 1s normal.
(D) None of the above answers
9. (8%)Let ¥ <Y, <¥ <Y, <¥; betheorder statistics of a random sampie of size 5 from the uniform
distribution having pdf f(x;6)=1/8, for 0<x<8,0<f <0
(
Please choose the right statement(s} from the following answers
(A)27Y, isunbiased for &
B) Y. isasufficient statistic for &
®B) %
(C)2Y, ismore efficient than E(21; | 1s)
(D) None of the above answers
A TRT 2 5 ¢ T VIR 6 AR
10. ¥ ~ LOGN (i, 0 }jf Y ~ N(u,0°). Assumethat ¥, ~ LOGN(y;,07),i=1,...,n, are independent.
(A)(8%) Find the distribution of Y;/Y;
]
(B)(10%) Find E| 17 -
L=t
11. If X are independent random variables following geometric distribut Hon and
flxy=pg* forx=123..,0<p<lg=1-p
(A)(8%) Please find the maximum likelihood estimator of PlX > for arbitrary k =1,2,

(B) (10%) Please find a UMVUE for 1/p

12. (10%) If y,5,..., v, arerandom samples from N(6,1), and

conditional distribution of y; given y.

2|

is the sample mean, find the






